Exam 16,17


AP Chemistry

Version AA  (Practice)                   Number
1) What is the conjugate acid of 
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E) 
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NHOH

 

Answer:  D 

5) What is the pH of an aqueous solution at 25.0 °C in which 
[image: image7.wmf][H]

+

 is 0.0025 M? 

A) 3.40 

B) 2.60 

C) -2.60 

D) -3.40 

E) 2.25 

Answer:  B 

6) HZ is a weak acid. An aqueous solution of HZ is prepared by dissolving 0.020 mol of HZ in sufficient water to yield 1.0 L of solution. The pH of the solution was 4.93 at 

25.0 °C. The 
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 of HZ is __________. 

A) 
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B) 
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C) 
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[image: image12.wmf]2

9.910

-

´


E) 
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Answer:  B 

7) The acid-dissociation constants of sulfurous acid 
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[image: image15.wmf]2

K 1.710

a1

-

=´

 and 
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 at 25.0 °C.  Calculate the pH of a 0.163 M aqueous solution of sulfurous acid. 

A) 4.53 

B) 1.30 

C) 1.86 

D) 6.21 

E) 1.93 

Answer:  B 

8) Which one of the following statements regarding 
[image: image17.wmf]w

K

 is false? 

A) 
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pK

 is 14.00 at 25 °C 

B) The value of 
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K

 is always 1.0 × 10-14. 

C) 
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K

 changes with temperature. 

D) The value of 
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K

 shows that water is a weak acid. 

E) 
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K

 is known as the ion product of water. 

Answer:  B 

9) Of the following substances, an aqueous solution of __________ will form basic solutions. 


[image: image23.wmf]NaHS
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Cu(NO)
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KHCO
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A) 
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, 
[image: image28.wmf]32

Cu(NO)


B) 
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KHCO
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C) NaF only 

D) NaF, 
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KHCO


E) NaHS, KHCO3 and NaF    

Answer:  E 

 10) A solution of formic acid is 3.0% dissociated at 25.0 °C. What is the original concentration (in M) of the formic acid solution? The 
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 at 25.0 °C for formic acid is 
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Answer:  0.20  

11) The Ka of acetic acid is 
[image: image34.wmf]5

1.7610

-

´

. The pH of a buffer prepared by combining 50.0 mL of 1.00 M potassium acetate and 50.0 mL of 1.00 M acetic acid is __________. 

A) 1.705 

B) 0.851 

C) 3.406 

D) 4.754 

E) 2.383 

Answer:  D 

12) A 25.0 mL sample of 0.723 M 
[image: image35.wmf]4

HClO

 is titrated with a 0.273 M KOH solution. The 
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+

 concentration after the addition of 
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 of KOH is __________ M. 

A) 0.439 

B) 
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1.0010
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C) 0.723 

D) 
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E) 0.273 

Answer:  B 

13) The concentration of iodide ions in a saturated solution of lead (II) iodide is __________ M.  The solubility product constant of 
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 is 
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A) 
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[image: image43.wmf]3

3.010

-

´


C) 
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D) 
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E) 
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Answer:  B 

14) Which one of the following pairs cannot be mixed together to form a buffer solution? 

A)
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CHN

, 
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CHNHCl


B)
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HCHO

, 
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C) KOH, HI 

D)
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NHCH

, HCl 

E) NaClO, 
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HNO


Answer:  C

15) Of the following solutions, which has the greatest buffering capacity? 

A) 0.821 M HF and 0.217 M NaF 

B) 0.821 M HF and 0.909 M NaF 

C) 0.100 M HF and 0.217 M NaF 

D) 0.121 M HF and 0.667 M NaF 

E) They are all buffer solutions and would all have the same capacity. 

Answer:  B 
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16) A 25.0 mL sample of a solution of an unknown compound is titrated with a 0.115 M NaOH solution. The titration curve above was obtained. The unknown compound is __________. 

A) a strong acid 

B) a strong base 

C) a weak acid 

D) a weak base 

E) neither an acid nor a base 

Answer:  C 

Consider the following table of 
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 values.
[image: image55.jpg]Cadumium carbonate | CdCO3 | 5.2 10-12
Cadumium hydrosade. | CA(OH); | 25 < 10-14
Caleiun fluoride CaFy | 39x10-11

Silver iodide ag | Bax1017
Zinc carbonate mC05 | 14x10°11




17) Which compound listed below has the greatest molar solubility in water? 

A) 
[image: image56.wmf]3

CdCO


B) 
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Cd(OH)


C) AgI  

D) 
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CaF


E) 
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ZnCO


Answer:  D 

18) Suppose you have just added 200.0 ml of a solution containing 0.5000 moles of acetic acid per liter to 100.0 ml of 0.5000 M NaOH. What is the final pH? The Ka of acetic acid is
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.  

Answer:  4.754 
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